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Chemical Equations Practice Quiz
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§ ,_1) Which of the following formula best describes the molecules shown in the box?

a) PHs b) CH,4 c)CO; - d)NH;
D2) Which of the following formula best describes the molecules shown in the box?

a) 3CH4 b) 4CH; ¢)3C0O, - . d) 4NH;

E 3) Which of the following formula best describes the molecules shown in the box?.
a) SCHy c) 3CH, +2CO,
b) 2CH,+ 30, d) 2CH4+ 3CO,

4) How many molecules are on the REACTANT side?

a)7 b) § c)3 d)2

% 5) Is the above reaction BALANCED?
a) Yes b) No

‘,)2 6) Which of the following is the most likely chemical equation that describes the above
reaction?

a) N2Os + NO = 3NO,

b) Mg + 2H,0 = Mg(OH), + H; -
¢)2H, + O, - 2H,0

d) 2Al+ Fe;03 = 2Fe + AlLO;

C 7) If the reactant side is written as 50, + 2CH,, then how should the product side be

written?
8) 20, + 5CH, ¢) Hz0 +4CO; 50, 42 0, Hz_o—rf-l(’oa
b) 50, + 2CH, d) 4H,0 + CO, LS

8) Is the above reaction BALANCED?
a) Yes No -

\ ) What is missing from the reactant side?

a) 20, C) H,C
b) 2CH,  d)CO,

Q 10) What are the missing coefficients in the following equation? (Show your work)

A +50 » 4w+ Omo

21,213 b)0,2,1,3 c)4,54,6 d)4,6,4,6
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Practice Quiz: Chemical Reactions

Multiple Choice: Write the letter representing the best answer in the blank space
in front of each question.

Use the equation below to answer questions 1 - 5.
2Al+ 3H,80, > Al(SO,); + 3H,

’B 1) Which molecule(s) are on the product side?

a. Al and H2S0, c. Al, S, O, and H.

b. Al(SO4); and H, d. The right side
ﬂ 2) Which molecule(s) .are on the reactant side?

‘a. Al and H,S0, c. Al, S, 0,.and H.

b. AI(SO4)3 and H, d. The left side
tD_ 3) What does the ‘+' symbol mean?

a. 'and’ c. 'forms bonds with'

b. 'turns into’ d. 'plus'

b\ 4) How many oxygen atoms are on the product side?

a l2 c. 4
b. 7 d. 3
\ )5) How many molecules of aluminum sulfate are on the reactant side?

a. 3 ¢. 1
b. 2 d. 0

_D 6) Which of the following ions is NOT a cation?
a. Calcium ion ¢. Iron (III) ion
b. Barium ion d. Sulfide ion

j.‘a 7) Which of the following fons is NOT an anion?
a. Oxide ion ¢. Carbonate ion
b. Lead ion d.- Carbide ion

_e‘_ 8) Which of the following is a monoatomic ion?

oD CQ" ¢. NH4*

b. ClO~ ' d. PO4*



" ' +
\ 2 19) Which of the following is the correct formula for barium citrate? B;{’,L
a. BaCgH507 c. Bd(C6H507)2 - b
b. Ba Cta H‘S"O
- BapCgH507 d. Ba3(C¢H507)2 1

A 20) Which type of reaction breaks bigger molecules into smalier molecules?

a. Decomposition ¢. Combustion
b. Single displacement - d. Synthesis
C 21) Which type of reaction requires O, as a reactant?
" a. Decomposition ¢. Combustion
b. Single displacement d. Synthesis
\5 22) Which type of reaction replaces the cation in an ionic compound?
a. Decomposition c. Combustion
b. Single displacement d. Synthesis

[2 23) Which type of reaction starts out with smaller molecules and combines them to
form a larger molecule?

a. Decomposition ¢. Combustion
b. Single displacement d. Synthesis
A 24) Which type of reaction is shown by the equation below?

CH3OH -=> CO + 2H‘2

a. Decomposition c. Combustion
b. Single displacement d. Synthesis

’> 25) Which type of reaction is shown by the equation below?

6CO3 + 6 H20 - C6H1206 + 602

a. Decomposi’rion ' ¢. Combustion
b. Single displacement d. Synthesis

26) Which type of reaction is shown by the equation below?

2PbNO3 + CGSO4 —-——> Pb2504 + CG(NO3)2

a. Decomposition ¢. Combustion

€ displacement ‘ }
Todde ’Dlsdm




Use the following symbol to answer questions 27 through 30.

27) How many atoms of hydrogen (H) are present?

a. 4 c. 16
C_ b. 8 d. 24

——__ 28) How many atoms of chromium (Cr) are present?

a.l c.3
b. 2 d. 4
D 29) How many atoms of nitrogen (N) are present?
a.l c. 3
b. 2 d. 6

:\2 30) How many molecules of ammonium (NH,} are present?.
a 1 ' €. 3

d. 6
_Q, 31) Whai‘ are the missing coefficients in the following equation?

_CzHSOH + 202 - Z_COZ + _ino

aO,,2,3 c.0 32 3
b.1 2, 3 d.l 323

’ l

=

32) What are the missing coefficients in the following equation?

$C3H8 + _.‘;...;2 > 2_002 + _.L_/..Hzo

-
~

a.2,4,3, 4 c.1,6 3 4
b. 0,5, 3, 4 d. 1534

-
-

L ’

-

’

& 33) What are the missing coefficients in the following equation?

"
p4 + b 02 -2 2 P205

3
3

-n.

- .l'l' s.r 2
2

a C. 1,
b. O, 5, d. 1

/

-n.
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CLASSIFICATION OF Name

CHEMICAL REACTIONS
Comginach 9N AR
Classify the reactions below as Ezstiaasis, decomposition, singie replessasent (eationi=sr
-arfemie) or doubl .
or dou em
1. 2H, + O, — 2HO Copnehon
2. HO — 2H, + O, deco Posihion
3. In + HSO, — ZnSO, + H, %\1(\%& ﬁ)ﬂQI/\QV\\,gf&
o
4, 2CO0 + 0O, — 2CO, Coroi NObvn
5. 2HgO — 2Hg + O, &QCO/‘-\pOB‘t Do
6. 2KBr + Cl, — 2KCI + B, S)l\g\lﬂ @_)(C,L\QA%L
7. CaO + H,O — Ca(OH), ComddineNon
8. AgNO, + NaCl — AgCl + NaNO, dOub\-L 'QYC\/\O'\/\%,Q,
9. 2HO, — 2HO + O, (Dmblnchon

10. Ca(OH), + HS0, — CaSO, + 2H,0 dou ble. eXC}\,Q(\_—g,Q
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BALANCING CHEMICAL EQUATIONS Nome ___

Rewrite and baiance the equations below.

10.
1.
12,
18,
14,
15,

16.

N, ¥ 3H, = 2 NH;

N, + H, — NH,

KCIO, — KCl + O,

NaCl + F, — NaF + Cj, 2Nl +t+, — 2Z2Naf + (U,

H,+ O, = HO 2He + Q2 = 21,0
AGNO, + MgCl, — AgCl + Mg(NO), 2A5N0; + M&dz—ﬁzp'ﬂ”% 5@2
ABr, + KSO, — Kbr + Aoy, LAIBrs+ 3#,504> olGr + Ablimy),

CH, + O, = CO, + H,0 CHC{ +20L";>OO7,.’-+1"“2,O
Csts + 50. ~> 3co, + 4U,0

CH, + O, = CO, + HO

CH, + 0, = ©, + no 2C sty *ISO, ~ 6CO, + |QH O
FeCl, + NaOH — Fe(OH), + Nacl__I & (s +3NaOH - Fe(off);+ 3N
P+0O, - PO, AP+ 50, = 2 € 0Os

Na + HO — NaOH + h_ 2 Na +2. H, O =2 NaOR + Hz
Ago —~ Ag+o, 2Ra,0 = A + O,

5,40, = so,__ Sg * 20, = 530

CO, + HO — CH,0, + O, (o COy. + (oHp 0 = C ot 0, +0,
K+ MgBr, — Kr + Mg__ 2K -’-,'Mg Br, ©2KE¢ + Mg

HCl + CaCO, — CaCl, + H,0 + CO, 2HU + (A (O ((h,+H 0

Chenmistry IF8766 : 58 @instructional Falr, Inc.



SECTION

SUMMARY
Toxic Changes

Toxins Update

A toxic substance causes an undesirable chemical reaction, producing a harmful
or unhealthy change in a living system. Chemical equations keep track of these
changes and allow you to predict what you will observe when compounds
combine. Becoming familiar with chemical equations is the first step in
understanding these chemical changes.

Review Exercises
I. Why is it difficult to identify a physical or chemical change through
‘combination reaction observaticns alone? \/Du. cant a.ou_lmff fee Q Chaom. b

- . i
--decomposition reaction 2. Based on the chemical equation for a reaction, can you tell if any of the
* single exchange reaction substances are toxic? €S

(single replacement) ] . . .
: double exchange reaction 3. Consider the equation for the formation of a kidney stone.

(double replacement) Na,PO,(aq) + 3CaCl,(aq) ~——> Ca,(PO,),(s) + 6NaCl(aq)

a. Is each reactant bonded ionically or covalently? How do you know
b. Is this is a combination reaction, decomposition reaction, single exchange

reaction, ofdouble exchange Yeaction?

c. Is this § chemical change dr a physical change? satd ‘d'm,. ]
d. How does a balanced reaction show that matter is conserved? -~ O'p n 288 t!
e. What is the chemical name of the so f\hd that makes up a kidney stone? .

CAY
4. Copy and balance thgea e?xllcgi equatlons

a. N, ?S) +JH,(g) —> N,H,(g)
2 2

c. H,50,(aq) -lg_NaCN(aq) —>2HCN(g) + Na,50,(ag)
d.JH,PO,(aq) +3Ca(OH),(ag) ——> Cay(PO,},(aq) H5H,0())
e. CH,(g) +90,(g) —5C0,(g) +1H,00)

£.7H,5(g) +20,(g) —250,(g) +2H 00)

g.7H,(g) + O,(g) —/H,0()

WEB :Ipi RESEARCH

PRO]ECT Toxins in the Environment

}J}a.v‘f‘f

where in your environment you might find this substance and describe its effects

i
’ Research a potentially toxic substance. (Your teacher may assign you one.) Find out
i on the body. Prepare a short report.
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